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%G 4-T3 Structures and Functions of Plants Ms. Arwa Al Messabi /:,,
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ST NAMIC: ...t eee e eeee e e e seeensee s eeeeee q\ ..

Q1: Put correct number of meaning near each nhew word:

A-(.| 3 |.) Adaptation.ci<: B-(.. 9 ..) Response.diaiu C-( 1 |) Stimulus.+.

D-(| 2 |.) Transpiration. g E-(.. 4 .. ) Tropism. slali)

1- Change in an environment that cause an organism to respond. sl Llaiuy gaisy Al 8
2-The release of water vapor through small opening stomata. ,sdl ne slall z) A

3- Physical trait or behavior help an organism survive in its environment. 334 a5 & sl
4-Plant’s response to water, gravity, light and touch. 4uilall g slall il Alaia

5-Reaction or change in behavior of an organism.csilsll sl a3 5 Jad 2

Q2: Choose correct answer: <l LEdY) cilaa) sl aga ddaiall LEAY) Alia) aren

1- What are basic needs of plants? Select all. Laes Waxs ZullY) clall cilalial 4 L

A-air P-wate' C-Shelter D-Space| [E-Sunlight| F-Sugar G-Nutrients

2- Which part helps a plant get water?sWl e Juasy il ¢ 3al
v/ & - L e =1 D\

A v NN \\\ C = ) [ {:_,1)‘, ’_/\

~ 4

3-Pine trees can reproduce with ............ that produce pollen or a sticky liquid that
captures pollen. &l o s il Gua¥ Jilo i 1L Aol o o siall Gl iKY
A-Conesky is B- Stamens 42 C-Flower )

4-Why do plants found in hot, dry areas often have smaller leaves than plants found in warm,

wet areas? k)l &l glaliall culili 45 5lia 3 yuea Led) o Adladl o3 jladl ahalidl cubils 13k

a-Smaller leaves allow plants to grow in smaller spaces.

b- Smaller leaves limit the amount of transpiration that occurs.

c- Smaller leaves help plants to take in more water through transpiration.

d- Smaller leaves allow plants to give off more water through transpiration.

5-Which plant part plays the biggest role in supporting the plant? 4esy <lil) b s o i)
A- Flower B-leaf E Stem D-Seed




6- Flowers contain structures that are responsible for .......... e el syl ) sl

A-Germination B-Reproduction C-Respiration D-Transpiration
7-Which is true about tropisms? slaii¥l e ddésll oo L
A-They are a plant part. B-They help plants get what they need.
C-They are a stimulus. D-They are where plants make food.

8-What properties of seeds make them good for reproduction? zahill duulic Lebaad 550 (aillad o L
A-Seeds coat. B- Can be carried to new places

C- Cotyledon (food supply) and embryo. D-All of them.

9-Which is adaptation used by this plant to survive in a hot, dry environment? & ks 4 Al diuss

A-Thick stems to hold water B-Deep roots to soak up the rain

C-Flat surface that faces the sun D- White thorns to attract animals
10-What is the function of the seed coat? s, wdle daday o L

A- It contains food B- It protects the new plant.

C-It attracts animals. D-It performs respiration.

11- Which organism gets energy directly from the Sun? &_dlw peedll (0 Al e duasy (2} (48D 58 L
a-Earthworm b-Bees c-Trees d-Owl

12- Which is not a basic need of plants? &uwlu¥) cill cilaliial (e

a-Shelters s- b-Sunlight c-Water d-Space

13- Where do plants obtain the energy to live and grow? seis gl a8kl e il duasy sl

a- From soil they live in. b-From oxygen in the air c-from food they produce
14-Which plant part allows it to obtain carbon dioxide? CO2 Je diasy (s2) Sl 2 3 98 L

a-Root b-Stem c- Leaves d- Root

15-How are a coconut seed and a watermelon seed most alike? ki 5 xigll jsa s G 4l aa 5 L

a-Each takes the same amount of time to grow into an adult plant.

b-Each has similar shape and size. C- Each grows into an adult plant.

d-Each descends from plants of similar shape and size.

16- Which of the following is an example of a plant responding to its environment? 4l <l s

a- Phototropism b-Stimulus c-Reproduction d-Breathing

17-lts function is gas exchange and transpiration: il s < jall Jals Lgiduda

A-Stem B-Stomata L C-Root

18-Plants adaptations structures: il Gl cus) 5

A-Thornsd s B-Chemicals |C-AII of them |




19-Which part of the plant makes most of the plant’s food? I3l giuay bl & ¢ ja Jis)
a-Root b-Leaves c- Stem d-Flower

20- Which structures help a plant to reproduce? Select all that apply.lxwes Waas 4 i< 2l ) 5
E- Flower B-Cone C-Stomata D-bulb duayl

21-Why most stomata on the lower side of leaves? To s 43 )5l Lkl dgall 8 il e aa g5 130
A-Reduce transpiration. B-Increase transpiration C-Nothing it do

22- Green plants use sunlight, water, and carbon dioxide to create their own food. Which explains
best why humans can't create their ownfood? il 13l puicat e 55l 5 508 asal mal) g e
A-Humans don't use water. B- Humans breathe oxygen.

C- Humans need extra energy to survive. D-Humans don't have leaves
23- .. take in water and nutrients from the soil. «u¥ally slall o Juasy
A-Branches B-Roots Or roots hair C-Leaves D-Flowers AN
24- What is the function of Part A? Look to Picture 1( 1) s jall dadas o8 e 15 seal kil

A- Taking in sunlight. B- Taking in water.

C- Searching for nutrients.

25- Which part of the plant is missing? Picture 2
2 5 gall & (Bl gl 3ghiall g2 La

Picture2

Q3-Look to Picture 2 Flower, you have flower 1 3
parts nhame, put correct number of its partson
its place on picture:
S Guulial) B 4l auza 38 31 51 Jal slawd dhal 3 30 2 3 a0
sogall o maal) 4dlsa s

1-Pistil
2-Ovary
3-Anther

with pollen :
4. Stamen Picture3




